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bash(Bourne Again Shell)
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[kgu@lily ~]$ bash --version

GNU bash, version 4.2.37(1l)-release (x86_ 64-redhat-linux-gnu)

Copyright (C) 2011 Free Software Foundation, Inc.

License GPLv3+: GNU GPL version 3 or later
<http://gnu.org/licenses/gpl.html>

This is free software; you are free to change and redistribute it.

There is NO WARRANTY, to the extent permitted by law.
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dirs pushdZ Qlsf| Sixf 7| A=l C|=d

disown XY HOIZMAM Al &

echo [ args ] args£ H0|1 && HiE

enable 4 YEQ BYS I8 £E 285 ¥

eval [ args ] argsE Ho| YHO = 210 A

exec command oXf HoM FE A
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[kgu@lily chl3]$ cat greeting.bash

#!/bin/bash

# This is the first Bash shell program of the day.
# Scriptname: greetings

# Written by: Barbara Bashful

echo "Hello SLOGNAME, it's nice talking to you."
echo "Your present working directory is “pwd ."
echo "You are working on a machine called “uname -n’."
echo "Here is a list of your files."

1s # List files in the present working directory
echo "Bye for now $LOGNAME. The time is “date +%T !"

[kgu@lily chl3]$ chmod +x greeting.bash

[kgu@lily chl3]$ ./greeting.bash

Hello kgu, it's nice talking to you.

Your present working directory is /home/kgu/2013U1/chl3.
You are working on a machine called lily.mmu.ac.kr.

Here is a list of your files.

greeting.bash

Bye for now kgu. The time is 17:37:30!
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[kgu@lily chl13]$ cat nosy.bash
#!/bin/bash

# Scriptname: nosy

echo
read
echo
echo
read
echo
echo
read
echo
read

echo

echo
read

echo

-e "Are you happy? \c"

answer

"Sanswer is the right response."
-e "What is your full name? \c"
first middle last

"Hello S$first"

-n "Where do you work? "

I guess S$REPLY keeps you busy!
-p "Enter your job title: "
"I thought you might be an SREPLY."

-n "Who are your best friends? "
-a friends
"Say hi to ${friends[2]}."

A3 217 (2)

[kgu@lily ch13]$ chmod +x nosy.bash
[kgu@lily chl13]$ ./nosy.bash

Are you happy? vy

y is the right response.

What is your full name? kgu

Hello kgu

Where do you work? MMU

I guess MMU keeps you busy!

Enter your job title: Prof.

I thought you might be an Prof..
Who are your best friends? kki kjw kjh
Say hi to kjh.
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[root@lily chl3]4# cat printer check.bash
#!/bin/bash
# Scriptname: printer check
# Script to clear a hung-up printer
if [ SLOGNAME != root ]
then
echo "Must have root privileges to run this program"
exit 1
fi
cat << EOF
Warning: All jobs in the printer queue will be removed.
Please turn off the printer now. Press return when you
are ready to continue. Otherwise press Control C.
EOF
read JUNK # Wait until the user turns off the printer
echo
/etc/rc.d/init.d/1pd stop
echo -e "\nPlease turn the printer on now."

# Stop the printer

echo "Press Enter to continue"

read JUNK # Stall until the user turns the printer
# back on

echo # A blank line is printed

/etc/rc.d/init.d/1lpd start # Start the printer
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declare @&
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[kgu@lily chl13]$ declare -i number
[kgu@lily chl13]$ number=hello

[kgu@lily chl13]$ echo S$number
0

[kgu@lily chl13]$ number=5 + 5

bash:

+:

command not found...

[kgu@lily chl13]$ number=5+5
[kgu@lily chl13]$ echo $number

10

[kgu@lily chl13]$ number=6.5

-bash:

6.5:

syntax error: invalid arithmetic operator

(1)

(error token is

"-5")
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[kgu@lily ch13]$ declare -1i [kgu@lily chl3]$ declare -i x=017
declare -ir BASHPID [kgullily chl3]$ echo $x

declare -ir EUID="1000" 15 Agﬁf
declare -i HISTCMD [kgu@lily chl13]$ x=2#101 pNE=

declare -i LINENO kgu@lily chl13]$ echo $x

|

declare -i MAILCHECK="60"

=8

™
+

declare —-ir PPID="6929" kgu@llly Ch13]$ echo $X

=

[
5
declare -i OPTIND="1" [kgu@lily chl3]$ x=8#17
[
1

declare -i RANDOM 5
declare -ir UID="1000"
declare -i num="0"

declare -i number="10"



let &

[kgu@lily
[kgu@lily
[kgu@lily
6
[kgu@lily
[kgu@lily
8
kgu@lily
kgu@lily

[

[

9

[kgu@lily
[kgu@lily
[kgu@lily
3
[
[
7

kgu@lily
kgu@lily

=
o

chl31s
chl31s
chl31s

chl3]1s
chl31s

chl3]$
chl3]$

chl3]$
chl3]$
chl3]$

chl3]$
chl3]$

Ab

L

i=5

let i=i+1
echo $i
let "i =1 + 2"
echo $i

let "i+=1"
echo $i

i=3
(1+=4)
echo $i

((1+=4))

echo $i

H A2
Fsaxcd At
> Bash= §Ef &
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o)
T O
[kgu@Qlily chl3]$ n='echo "scale=3; 13/2" |bc'
[kgu@Qlily chl3]$ n="echo "scale=3; 13/2" |bc’

[kgu@lily chl13]$ echo $n
6.500

[kgu@lily chl3]$ product= gawk -v x=2.45 -v y=3.123
'BEGIN { printf "%.2f\n", x * y }'°

[kgu@lily chl3]$ echo S$product
7.65
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[kgu@lily chl3]$ cat greeting2.bash
#!/bin/bash

# Scriptname: greetings2

echo "This script is called $0."

"$S0 $1 and s2"

echo "The number of positional parameters is S$#"

[kgu@lily chl13]$ chmod +x greeting2.bash

echo

[kgu@lily chl3]$ ./greeting2.bash | set0 @ AN 7}=

This script is called ./greeting2.bash.
./greeting2.bash and

The number of positional parameters is O
[kgu@lily chl13]$

This script is called ./greeting2.bash.

./greeting2.bash Tommy
./greeting2.bash Tommy and

The number of positional parameters is 1
[kgu@lily chl13]$
This script is called ./greeting2.bash.

./greeting2.bash Tommy Billy

./greeting2.bash Tommy and Billy

The number of positional parameters is 2

[kgu@lily chl3]$ cat args.bash
#!/bin/bash

# Scriptname: args

# Script to test command line arguments
echo The name of this script is $0.
echo The arguments are $*.

echo The first argument is $1.

echo The second argument is $2.

echo The number of arguments is S$#.
oldargs=5$*

set Jake Nicky Scott

echo All the positional parameters are S$*.

# Reset the positional parameters

echo The number of postional parameters is S$#.

echo "Good-bye for now, $1."

set $(date) # Reset the positional parameters
echo The date is $2 $3, S$6.

echo "The value of \$oldargs is $oldargs."

set Soldargs

echo $1 $2 $3

[kgu@lily chl3]$ chmod +x ./args.bash

[kgu@lily ch13]1$

The name of this script is

./args.bash a b c d
./args.bash.
The arguments are a b c d.

The

The second argument is b.

first argument is a.

The number of arguments is 4.

All the positional parameters are Jake Nicky Scott.
The number of postional parameters is 3.

Good-bye for now, Jake.

The date is 05. 27., KST.

The value of $oldargs is a b c d.

abc

SHOHLo!D HYHRET

ot

|

it
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[kgu@lily chl13]$ cat checker.bash
#!/bin/bash
# Scriptname: checker

# Script to demonstrate the use of special
variable

# modifiers and arguments

name=${1:?"requires an argument" }

echo Hello $name

[kgu@lily ch13]$ chmod +x checker.bash
[kgu@lily chl13]$ ./checker.bash

./checker.bash: line 5: 1: requires an argument
[kgu@lily chl13]$ ./checker.bash kgu

Hello kgu

[kgu@lily
[kgu@lily
> do

> echo $i
> done
apple

pie

pears
peaches
[kgu@lily
[kgu@lily
> do

> echo $i
> done
apple pie
[kgu@lily
[kgu@lily
> do

> echo $i
> done
apple

pie

pears
peaches
[kgu@lily
[kgu@lily
> do

> echo $i
> done
apple pie
pears
peaches

chl3]$ set 'app

(SHNe)

chl3]$ for i in |$*

chl3]$ set 'app .

chl3]$ for i in

vv$*"

pears peaches

chl3]$ set 'apple pie'

chl3]$ for i in|s@

chl3]$ set 'apple pie'

chl3]$ for i in

lls@"

e' pears peaches

' pears peaches

pears peaches

pears peaches
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[
[kgu@Rlily chl3]$ grep
[kgu@lily chl3]$ echo
1
[
[

kgu@lily chl3]$ grep

kgu@lily chl3]$ name=Tom

"Sname" /etc/passwd

$?

kgu@lily chl3]$ name=kgu

"Sname" /etc/passwd

kgu:x:1000:1000:kgu: /home/kgu: /bin/bash

[kgu@lily chl13]1$ echo
0

$7
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>test E'i' =

[ strlngl = strlngZ ] strlnglﬂf string2= Z Lt (YE0 AL 0|AE 0| 2dl{Of &)
[ stringl == string2 ] Bash 2.x 0|20|&= == 0| & 7t&

[ stringl != string2 ] stringldt string2= CECLC}

[ string ] string2 nullO| OFL|C}

[ -z string ] string Z 0|7} 00|Ct

[ -n string ] string Z 0|7} 00| OfL|LC}

[ stringl —a string2 ] and ALK} (stringl, string2 25 &

[ stringl -0 string2 ] or ALK} (stringld} string2 =& & SfLt O & &)

[ Istring ] not A AFX}

AAFH LA} 2 B2

[[ patternl && pattern2 ]]  patternl, pattern2 2= & (Hatst 2X| o & 2QIA| “pattern2”)
[[ patternl || pattern2 ]] patternl, pattern2 2& & SfL| O|AF &t

[ !pattern ] patterndt ZrX| 4Lt



AAFH LA} 2 B2

[intl —eq int2 ] intldf int2& ZLCH

[ intl —ne int2 ] intldf int2= ZX| QCH

[intl —gt int2 ] intl2 int2E2Ct AL}

[ intl —ge int2 ] intl2 int22Ct AL} ZLC}

[intl -t int2 ] intl2 int2 2 Ct &FC

[ intl —le int2 ] intl2 int2 2 Ct &AL} ZCt

[ filel —nt file2 ] filelO| file2 2Lt |22 Tt (HALX} 7|=F)

[ filel —ot file2 ] filelO| file22Ct @2 =l mf

[ filel —et file2 ] filelO| file2d} S LBt X X|O|HLF Z4E inodeE 73
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let T =

»C 210/ Z0| SFot A AMNE 7S
»Bash 2x O|= (), ()= x|§_+ FO] AFE Vs
» =0l Z=27 00|H &, 10|H A Ij

_>E

kgu@lily chl3]$ x=2
kgu@lily chl13]$ y=3
kgu@lily chl3]$ (( x > 2 ))
kgu@lily chl13]$ echo $7?

kgu@lily chl13]$ echo $7?

kgu@lily chl3]$ (( x <= 2 ))

[

[

[

[

1

[kgu@Rlily chl3]1$ (( x < 2 ))
[

1

[

[kgu@lily chl13]$ echo $?
0
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if HH [kgu@Rlily chl13]$ echo "Are you o.k. (y/n) 2"
then Are you o.k. (y/n) ?
=] [kgu@lily chl3]$ read answer
fi Yy
__________________________________________ [kgu@lily chl3]$ if [ "$Sanswer" = Y -o "Sanswer" =y ]
" > th
EXGo| T test ARE - A YA [[ 7] en ,
] o > echo "Glad to hear it."
if [[ 2XE =HA 1] then .
> fi
o ,
. o< Glad to hear it.
fi [kgu@lily chl3]$ if [[ Sanswer == [Yy]* || S$Sanswer == Maybe ]]
ZRHO| CHSH let AR - AMAAL (( ) > then
if (( 241 )) then > echo "Glad to hear it."
=] > fi
fi Glad to hear it.
if HH if Y
then then
Hgl (=
P (5) _sg=
clse elif HH
= then
FH () Y (5)
fi elif HH
then
FH (=)
else
FH (=)
fi
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-b filename
-c filename
-d filename
-e filename
-f filename
-G filename
-g filename
-k filename

-L filename

Cl 2|7t =5
20| =5
mhelo| ZXfeta ClH 2|7t ot

L} 0l

i

sln 98 A2 D 48

Hn

setgid7t A4 &
Sticky bit0] A7 =

SECE

HAALERL
-p filename
-O filename
-S filename

-s filename

-t fd

-u filename
-w filename

-x filename

np 37[7F 00[ OfL|Cf

opAEAZE O 20| S US
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[kgu@lily chl3]$ cat perm check.bash
#!/bin/bash

# Using the old style test command

# filename: perm check
file=./testing

if [ -d $file ]

then
echo "$file is a directory"
elif [ -f $file ]
then
if [ -r $file -a -w $file -a -x $file ]
then # nested if command
echo "You have read,write,and execute \
permission on $file."
fi
else

echo "$file is neither a file nor a directory.

fi
[kgu@lily chl3]$ chmod +x perm check.bash

[kgu@lily chl3]$ ./perm check.bash
./testing is neither a file nor a directory.

[kgu@lily chl3]$ cat perm check2.bash
#!/bin/bash

# Using the new compound operator for test (( ))
# filename: perm check2

file=./testing

if [[ -d $file 1]
then
echo "$file is a directory"
elif [[ -f $file 1]
then
if [[ -r $file && -w $file && -x Sfile 1]
then # nested if command
echo "You have read,write,and execute \
permission on $file."”
fi
else

echo "$file is neither a file nor a directory.

fi
[kgu@lily chl3]$ chmod +x perm check2.bash
[kgu@lily chl3]$ ./perm check2.bash

./testing is neither a file nor a directory.

=TSt E L ZEE
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Null &=
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Ron, x| T= HEIZ 02=
=0&
» =2 if ChZ0| OFF&H 2=
SIX| &2 I 0|2

[kgu@lily chl3]$ cat name grep.bash
#!/bin/bash
# filename: name grep

name=Tom
if grep "$name" databasefile >& /dev/null
then

els
echo "$1 not found in databasefile"
exit 1

fi

[kgu@lily chl3]$ chmod +x name grep.bash

[kgu@lily chl3]$ ./name grep.bash

not found in databasefile

S5 HdJH (8)

[kgu@lily chl3]$ cat wholenum.bash
#!/bin/bash
# Scriptname: wholenum

# Purpose:The expr command tests that the
user enters an

# integer

#

echo "Enter an integer."

read number

if expr "S$number" + 0 >& /dev/null
then

else

echo "You did not enter an integer
value."

exit 1
fi
[kgu@lily chl13]$ chmod +x wholenum.bash
[kgu@lily chl3]$ ./wholenum.bash
Enter an integer.
as
You did not enter an integer value.
[kgu@lily chl3]$ ./wholenum.bash
Enter an integer.
10
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[kgu@lil h13]s 1 .bash
Ca Se D:| Ezl #!?;in?bzsi cat xcolors.bas

# Scriptname: xcolors

ho -n "Ch £ d 1 £ t
> El_% —E|—7| Do:l %Z;I EE echo wrilndowt:)oie a foreground color for your xterm

L read color
1 1 A |_ 9 |__ case "$color" in
If/ellf I:'H |_I A o 7 (@) [Bb]1??)
-'-H o % xterm -fg blue -fn terminal &
default H=2 *)
> e au t OO L [Gglreex)
e xterm -fg darkgreen -fn terminal &
O:I AI Iy
> o 1 red | orange) # The vertical bar
means "or"

case B in xterm -fg "$color" -fn terminal &
valuel) *) "

FH (=) xterm -fn terminal
value?2) esac

o3 (5) echo "Out of case command"

[kgu@lily chl13]$ chmod +x xcolors.bash
i [kgu@lily ch13]$ ./xcolors.bash
Choose a foreground color for your xterm window:
H (E) white
eer= xterm: Xt error: Can't open display:
xterm: DISPLAY is not set

esac Out of case command
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[kgu@lily ch13]$ cat here test.bash
#!/bin/bash

# Scriptname: here test

echo "Select a terminal type: "

cat << ENDIT

1) unix

2) xterm

3) sun
ENDIT

read choice
case "$choice" in
1)
TERM=unix
export TERM
2) TERM=xterm
export TERM
3) TERM=sun
export TERM
esac
echo "TERM is S$TERM."
[kgu€lily ch13]$ chmod +x here test.bash
[kgu@lily chl13]$ ./here test.bash
Select a terminal type:

1) unix
2) xterm
3) sun

1
TERM is unix.



[2 S]]

©
m &
oll >
=
cAma.

D)
O ¢
8 E
o Y _
Hm.ﬂm
HH_(
m

Kl =)

AlLalre
Bz ©
Pz

O
AN =
L O
._.ﬂ.@_|+o_
757
1o K
<NRO =



